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D-6148
M.Sc. (Home Science) (IVth Semester)

Examination, 2020
(HUMAN DEVELOPMENT) STATISTICS &

COMPUTER APPLICATION

Time Allowed : Three Hours

Maximum Marks : 70

Minimum Pass Marks : 25

Note : Section - A : Attempt any ten questions. Each

question carries one marks.

Section - B : Attempt any five questions. Each

question carries 2 mark. (Word limit 25-30

words)

Section - C : Attempt any five questions. Each

question carries 4 marks. (Word limit 250 words)

Section - D : Attempt any three questions. Each

question carries 10 marks. (Word limit 500

words)

veesš : KeC[ – De : efkeâvneR 10 ØeMveeW kesâ Gòej oerefpeS~ ØelÙeskeâ ØeMve

ceW 1 Debkeâ nw~

KeC[ – ye : efkeâvneR 5 ØeMveeW kesâ Gòej oerefpeS~ ØelÙeskeâ ØeMve

ceW 2 Debkeâ nQ~ (Meyo meercee 25-30 Meyo)
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KeC[ – me : efkeâvneR 5 ØeMveeW kesâ Gòej oerefpeS~ ØelÙeskeâ ØeMve

ceW 4 Debkeâ nQ~ (Meyo meercee 250 Meyo)

KeC[ – o : efkeâvneR 3 ØeMveeW kesâ Gòej oerefpeS~ ØelÙeskeâ ØeMve

ceW 10 Debkeâ nQ~ (Meyo meercee 500 Meyo)

SECTION - A

KeC[ - De

Q. 1. Fill in the blanks : 1×5=5

Keeueer mLeeve Yejes :

(1) Father of statistics is ________.

meebefKÙekeâer keâe pevceoelee ________ nw~

(2) Full form of R.O.M. is ________.

R.O.M. keâe hetje veece ________ nw~

(3) Full form of C.P.U. is ________.

C.P.U. keâe hetje veece ________ nw~

(4) Mode of the following data is ________.

5, 4, 8, 4, 6, 5, 4, 6, 5, 7, 4, 7

efvecve mecebkeâeW keâe yenguekeâ ________ nesiee~

5, 4, 8, 4, 6, 5, 4, 6, 5, 7, 4, 7

(5) Arithmetic mean of marks obtained by 8

students is ________. Marks obtained by the

students are as follows :
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(3) (4)

Student : A B C D E F G H

Marks obtained : 4 5 6 5 7 8 6 5

8 efJeÅeee|LeÙeeW kesâ ØeehleebkeâeW keâe meceeveeblej ceeOÙe

................ nesiee efJeÅeee|LeÙeeW kesâ Øeehleebkeâ efvecve nQ :

A B C D E F G H

4 5 6 5 7 8 6 5

efJeÅeeLeear :

Øeehleebkeâ :

Tick the  mark an correct answer : 1×5=5

mener Gòej hej  efškeâ ceeke&â ueieekeâj Gòej oW :

(1) In formatting tool bar in formatting apparatus

minimum & maximum font size is :

(a) 8 & 64

(b) 8 & 72

(c) 12 & 72

(d) 11 & 72

HeâecexeEšie štue yeej ceW meyemes Úesše Deewj meyemes yeÌ[e Heâebš

Deekeâej Heâebš GhekeâjCe ceW keäÙee GheueyOe nw :

(De) 8 Deewj 64

(ye) 8 Deewj 72

(me) 12 Deewj 72

(o) 11 Deewj 72

(2) Short cut key for open dialogue box is :

(a) F12

(b) Shift + F12

(c) Alt + F12

(d) Ctrl + F12

Deesheve [eÙeuee@ie yee@keäme Keesueves kesâ efueS Meeš& keâš keâer

keäÙee nw :

(De) F12

(ye) Shift + F12

(me) Alt + F12

(o) Ctrl + F12

(3) Types of correlation are :

(a) Negative & positive

(b) Partial

(c) Non linear & linear

(d) All of the above

menmebyebOe kesâ Øekeâej nQ :

(De) $e+Ceelcekeâ SJeb Oeveelcekeâ

(ye) DeebefMekeâ

(me) DejsKeerÙe SJeb jsKeerÙe

(o) Ghejeskeäle meYeer

(4) Scanner is a device :

(a) Input device



(5) (6)
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(b) Output device

(c) Storage device

(d) None of the above

mkewâvej Skeâ ef[JeeFpe nw :

(De) Fvehegš ef[JeeFpe

(ye) DeeGšhegš ef[JeeFpe

(me) mšesjspe ef[JeeFpe

(o) Ghejeskeäle ceW mes keâesF& veneR

(5) Karl Pearson has invented :

(a) Standard deviation

(b) Central tendency measures

(c) Dispersion

(d) Correlation

keâeue& efheÙeme&ve ves Keespe keâer Leer :

(De) ceevekeâ efJeÛeueve

(ye) kesâvõerÙe ØeJe=efòe keâer ceehe

(me) efJeÛejCe

(o) menmebyebOe

SECTION - B

KeC[ - ye

Note : Attempt any five questions. Each question carries

2 marks. 2×5=10

veesš : efkeâvneR heeBÛe ØeMveeW kesâ Gòej oerefpeS~ ØelÙeskeâ ØeMve 2 DebkeâeW keâe

nw~

Q. 2. Give the definition of the following (any five) :

efvecve keâer heefjYee<ee efueKeW (keâesF& heeBÛe) :

(1) RAM

RAM

(2) Correlation

menmebyebOe

(3) Standard deviation

ceevekeâ efJeÛeueve

(4) Mean

ceeOÙe

(5) Input device

Fvehegš ef[JeeFpe

(6) Histogram

efnmšes«eece

(7) ‘t’ test

‘t’ šsmš

SECTION - C

KeC[ - me

Note : Attempt any five questions. Each question carries

4 marks. 5×4=20



(7) (8)
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veesš : efkeâvneR heeBÛe ØeMveeW kesâ Gòej oerefpeS~ ØelÙeskeâ ØeMve 4 DebkeâeW keâe

nw~

Q. 3. Give the definition of the following (any five) :

efvecve keâes mhe° keâjW (keâesF& heeBÛe) :

(1) C.P.U.

C.P.U.

(2) Printer

efØevšj

(3) Frequency curve

DeeJe=efòe Je›eâ

(4) Parametric test

hewjeceerefšk̂eâ šsmš

(5) Paragraph allignment

hewje«eeHeâ SueeFveceWš

(6) Formatting in MS Word

MS Word ceW HeâecexeEšie

(7) Tools in MS Word

MS Word kesâ štume

SECTION - D

KeC[ - o

Q. 4. Attempt any three questions. Each question

carries 10 marks. 3×10=30

efkeâvneR leerve ØeMveeW kesâ Gòej oerefpeS~ ØelÙeskeâ ØeMve 10 DebkeâeW keâe

nw~

(1) Calculate the median from the following

data :

Marks obtained (below) : 10 20 30 40 50

No. of  students : 5 20 40 52 60

efvecve mebcekeâeW mes ceeefOÙekeâe keâer ieCevee keâjW :

10 20 30 40 50

5 20 40 52 60

Øeehleekb eâ (me s keâce)

Úe$ee Ws keâe r meKb Ùee

(2) Make a frequency curve from the following

data :

Marks obtained : 0 10 10 20 20 30 30 40 40 50 50 60 60 70

No. of  students : 20 25 35 45 30 20 15

      

efvecve mecebkeâeW keâe DeeJe=efòe Je›eâ yeveeSB :

0 10 10 20 20 30 30 40 40 50 50 60 60 70

20 25 35 45 30 20 15

      Øeehleekb eâ

eJf eÅeee|LeÙee Ws keâe r mebKÙee

(3) What do you understand by correlation ?

Explain types & importance of correlation

with example.

menmebyebOe mes keäÙee mecePeles nes ? menmebyebOe kesâ Øekeâej SJeb

cenlJe GoenjCe meefnle mhe° keâjW~

(4) Describe the characteristics of microsoft

word. Explain computer generation.

ceeF›eâesmeeHeäš Je[& keâer efJeMes<eleeSB yeleueeFS~ keâchÙetšj keâer

pevejsMeve mhe° keâerefpeS~

——


